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HONG KONG ATTAINMENT TEST
(Pre-Secondary 1)

h— A SR ESERR
Mathematics EiE2 ¥}

Primary 6 ;<& #

Mock Paper 4
ERES (M)

Time allowed for the test: 50 minutes
BB 5004

]
¥

Instructions:
1. This test contains two sections:

Section A: Questions 1 — 30

Section B: Questions 31 — 36
Answer ALL questions.
Write your answers on the answer sheet.
Write your name, class and class number on the answer sheet.
You may do your rough work in the blank space of this test booklet and
there is no need to rub it out after the test.
6. The use of calculator is not allowed.
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/Mock Paper

A string was 6 m long. Henry cut

out 16 parts of the same length

from the string and 24 cm of the

string were left. What was the

length of each part cut out?

A.

B
C.
D

36 cm
37.5 cm
39 cm
61.5 cm

4., HBT 6m: STEKBTIHEE
EARG 16 KT 14 » EH8
F2dceme HETHHETES

2
A. 36cm
B. 37.5cm
C. 39cm
D. 61.5cm

The renting charge of each bicycle

1s as follows:

5. FMmERGMARAKE 4T

Renting Charge of Each Bicycle

440 5 A i R
First hour
# o b3
Every half an hour thereafter
W% FF N B $11

(Half-hourly rate is charged for renting time less than half an hour)
(RAF AR R )

Mary rented a bicycle at 10:23 a.m.

and returned the bicycle at 3:45 p.m.

on the same day. How much should

she pay?
A.

B
C.
D

$80

$113
$124
$135

£ R 10:23 a.m. B4R F — %5
Fd o REAEFHB 3:45 pm. X
BER o WEAH S S ?

A. $80

B. $§$113
C. §124
D. §135

NER © ZRHBEHRAR AR



»/’Mock Paper

9. There are 12 cookies in a box and 9. —&WMTHEA 12 F2E&ETHE
the total weight of the cookies = 305% gowmRETE R g
with the box is 3055 g. If the T B FHES Y
box weighs 85 g, what does each
cookie weigh on average?

2 2
A 165 g A 165 g
3 3
B 17? g B. 17? g
1 1
C. 185g C. 185¢
2 2
D 18§ g D. 18§ g
10. Which of the following numbers 10. T 39— 18 # I 36.86 484 £
becomes an integer after 36.86 is PR Ay — 8 2
added to it?
A. 2.24 A. 2.24
B. 5.14 B. 5.14
C. 214 C. 214
D. 30.86 D. 30.86
11. Ken deposited $100 into his bank 11. ZEREXHFA $100 3| i bg 4247

account yesterday. After he paid
the mobile phone bill $76.5 by
bank autopay method today, the
balance of his account was $44.8.
What was the balance before he
deposited the money yesterday?

Poao AR WARAT B B R
XX FREFF $76.5 #% 0 1
B P 1R T $44.8 o fbEE R B
ANFIBA P XA S ) 2

A. $21.3 A. $21.3
B. $68.3 B. $68.3
C. $131.7 C. $131.7
D. $221.3 D. $221.3
@0 NEM O SEHE LIRERAT
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SECTION B

Working steps must be shown in

answering questions in this section
unless specified otherwise.

| Z3B
BMRAERITERA S » EE BRI ERERE - &
JHAESR -

31. Mr Lee owned a square farmland (as
shown in Figure 1). He expanded
the farmland so that one end of the
farmland was extended to % of the
length of the original side. Finally,
a rectangular farmland was formed,
as shown in Figure 2.

32m

Figure 1
B—
(a) What was the length of the
longer side of the farmland
after expanding? (Give the

answer only) [2 marks]

(b) As compared to the original
farmland, what was the
increase in its perimeter after

expanding? [4 marks]

Farmland
Bt E>

31, ERAA—WMEFHHA (4
B — i) o fode i A 0 1
Bob—sh I RA S E o &
B R A= E T B AR do
B — BT o

Figure 2
&=
(a) #HLIE A% - BHR—FH K
BER%Y 2 (RAFHEEE)

[2 2]

(b) & % » Hrab oy B LR &
4938 m T %% ? [4 2]
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